DPopMupoBaHHne

— JIMGHOCTHBbIX
yyvAi

Yunrenb: MaprtbiHoBa I.
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1. ApekBaTHasn
caMooLleHKa

2. Pecnekcus

3. AgekBaTHoe
caMmoBocCnpusaTue
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C. OCO3HaHHOCTb

YYEHMSA U JINYHasA
OTBETCTBEHHOCTb

2. MNoHnMmaHue
CYLWHOCTN YCBOEHUSA
3. ChbopMmupoBaHHas
yyebHas MmoTuBaums
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j

4 )
JINYHOCTHbIE
YHUBepcaJibHble
yuyebHble pencreus
\ J
4 OencrBus N ( OencrBusa A 4 AencrBuna A
caMoonpepaesieHmn CcMbicnoobpaso HpaBCTBEHHO-
A BaHuUA 3 TNYEeCKoro
oLeHunBaHusAa
N J V2N %
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1. NMono)xurtenbHble
HpaBCTBEHHbIE
KauyecTBa

2. ApekBaTHasn
OLeHKa Apyrux

3. HaBbikn
KOHCTPYKTUBHOIO
B3aMMoOAenCTBUSA
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TeMa ypoka:
«lpneMbl YMHOXXeHunsa »




460007 — 460017 — ...

891000 — 892000 — ...

756200 — 756400 — ...




27 -30 = 34-21 23 - 19 =

130- 20 =42 -50 60 - 20 =




34-21=34-(20+1)=34-20+34-1 =
680 + 34 =714

23.19=23-(20-1)=23-20-23-1 =
460 - 23 = 437

a-(B+ c)

a-(B-c)

d-B+a-cC

d"B—ad-"C




248 - 5

248 - 10: 2 =2480: 2 = 1240

284 - 25

284 -10:4 =28400:4 =7100




YMHOXa Ha 10 YMHoOXamw Ha 100

Oento Ha 2 Oento Ha 4

a-10: 2 a-100:4




